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Outcome 2 - 2/3 step questions/Solving for the denominator

Bronze examples

Silver examples

Gold examples

Vs

Examples...

Change the subject of the formula
tod.

c=d*-8
d:—8=c

Common sense linel
Do the oppositel
Add 8
Square root

d*=c+8
e

Examples...

Change the subject
of the formulato b.

a=chb*-5
ch*-5=a

ch = a+5

b;!: a+5
c
b= +5
C

a
| ]

Common sense linel
Add B
Divide by ¢

Square root
c=a+3Vh
a+3Vvb=c
3Wh=c—a
\/E_] _ c—a

-~ 2
b= [& ﬁ)

3

Bronze Questions

ap
Change the subject of the formula to the ’é/
letter in the bracket... )

L b=c*+d (¢0) & p=q+7r ()

w T=t'=5 () & d=4f" (f)

eZ
& A=4mw? () & W=— (o
p* w
Z k=" 8 v=J5 W
Vs

R c=Vd+f @I =5 ©)

Gold Questions aB
Change the subject of the formula to the jy
letter in the bracket...

8
& d=§ ©  g=7 O
w—75 _z+ 4
~ b=—> (m) & y=—> (@
2 r
5¢=" M & w=m O
s 8u=[
= — u= [— v
& T T (t) v

Changing the Subject of the Formula

Examples...

Change the subject of the formula

to v.
NO common
sense linel

. Multiply by v
» Divide by p

D= 72 Multiply by v?
Divide by D

?2 =
v'D=m Square root

Silver Questions

Change the subject of the formula to the
letter in the bracket...

|

—_ 2
p i r=bx*—n (x)

]

5 4 _wir
p

—_ 2
& e=9r*+1 ()

h=4+al? (T) & y=—+3 @)

2

e
h=

= _?'l'g (e)

2

Z l:(%)erk m 8 a:b(g) ©

8 v=c+2ya (1) &8

e=as—v (5)
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Bronze Answers

1. c=+b-d 2.

3. t=+r+5 4,

5. r= |~ 6.
4w

7. p=vK 8.

9. d=(c-H* 10

. 2.
3. T= “%‘ 4.
B w= JE 6.
7. m=nl-k 8.
v = z
9 a=(3) 10
Gold Answers
1. ¢= % 2.
w -5
3. m= - 4,
2
5. p == 6.
7. t= i 8.
5r

REL 1-1e
r=4p—q
d
f =0
e = Wr
w = 2p?
s = (8r)?

e—1
r=J-e
v=Z5=3)
e = Jc(h—g)

i
c=d ;

& +vy2
=)
=2

g

zZ +4
¥ =

y
h = %

3

v = —

Changing the Subject of the Formula
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